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| 4. If your boss continually praises you 1
meticulous attention  to detail 3
polite conduct, which of the following most

— gHapils appropriately describes you ?
(a) Peremptory
(b) Perfunctory
(¢) Punctilious

-

(d) Proficient

What is the synonym of the underlined word

5.
in the following sentence ?

2.  Fill in the blank with the correct idiom : The languid student was always late to the

He has by establishing the first class.

private university in India. (@ Lamenting

(a) created a genre (b) Indifferent

(b) initiated a yardstick (¢) Difficult

(c) made history (d) ,.Engaged

(d) designed a milestone

6. What is the antonym of the underlined word

in the following sentence ?

There is a paucity of information on the

A person who is born into a rich, famous or
nutritive value of this item.

\}0\

important family is called :
(a) Abundance

(a) Factotum

/ (b)  Scarcity
(b) Scio
Deficiency

(c)

(¢) Warmonger
(d) Inadequacy

(d) Recusant

RTJL-A-GAT (2-B)
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Consider the following sentences :

i1 You have to choose within bread and

milk.

II. Children are standing in the corner of

the room.

III. Whomdo you think won the prize ?

Which of the above sentences is/are

grammatically correct ?
(a) Ionly

(b) III only

(¢) I IIandIII

(d) None
z

W g"fi“one of th

(3-B)

e following

meaning Of the under

the sentence ?
(a) Tobe inferior to
(b) Tobe most confused

(c) Tobe altogether superior to

(d) Tobe most handsome

10. Consider the following sentences :

I.  Man is mortal.
II. Gold is a precious metal.

III. Cotton grows in India.”

In how many of the aboye sentences is an
article—needed...at | _the

the sentence ?

(a) Only one

(b) Only two
(¢) All three
(9 None | &

expresses the

lined phrase in

beginning  of

.




nk by choosing the correct

v

o 8- she is busy at the moment because
(she, wash) her clothes.”

(a) she was washing
(b) she has just washed

(¢) she is washing
(d) she had been washing

13. What is the meaning of the underlined part of
the following sentence ?

“In future I will paddle my ownseanoe without

seeking support.”
a) To lean on'one’s siblings for support
b) To utilize one’s contacts

¢)  Tobeindependent and self-reliant

d To use one’s own pitch

14. What is the meaning of the underlined part of
g p
the following sentence ?

“She went through an emotional roller-coaster

‘ . I 1 know you.

;;nue Voice

II. |His presence irritates I am s

me sometimes.

In which of the above is the Active

correctly expressed in the Passive Voice

(a) Ionly

(b) IIonly

o

(¢ BothIandII

(d) Neither I nor II

matter.

IT." [The Government "|He got an award
from the f

Government.

gave him an
| |award.

In which of the above is the Active Voice

correctly expressed in the Passive Voice ?

while attending the tumultuous family event.”
a Enjoying life to the fullest

b)  Taking the emotions very seriously

(c)  Talking to people who are emotional

(d) Undergoing great mood swings

-

RTJL-A-GAT
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(a) Ionly
(b) II only
(c) BothIandII

(d) Neither I nor II

16. Read the following two statements, each given
in the form of Active Voice and Passive Voice ;"

[ Active Voice Passive Voice I )
I. |We were The matter is being
investigating the [investigated by us.

RTJL-A-G
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7.
Read the following two statements, each given | 19.
in the form of Direct Speech and Indirect
Speech :
Bircot Specch Indirect Speech & - |A rolling stone A person who dqefz
, e~ e gathers no moss |not settle down will
I. |He said to me, “Please |He requested not attain success
wait here until I me to wait here
refurn, until he II. |To have a beein |To talk and think
gincd " |your bonnet excessively about
II. |The taxi driver said to |The taxi driver something
us, “Where are you enquired of us 0 METTRA nlat e
gommER b Which of the above pairs is/are correctly
oing.
ot — matched ?
In which of the above is the Direct Speech
correctly expressed in the Indirect Speech ? (a) Ionly
(a) Ionly
£ (b) IIonly
(b) IIonly
(¢) BothIandII (¢) BothIand II
’_,//
(d) Neither I nor II
(d) Neither I norII

Read the following two statements, each.given
in the form of Direct Speech and Indirect

Speech :
Direct Speech Indirect Speech 920. Fill in the blanks /with appropriate
I. |Isaid to him, “Go |I ordered him to go prepositions given below :
_ away.” away. & g :
. e cut the fe
'11. |1 shouted, “Let me |I ordered them to 7 efeatpe and il
go.” '{et me go. the secret private basement.
In which of the above is the Direct Speech () into, thtough

correctly expressed in the Indirect Speech ?
(b) in, into

(a) Ionly
(b) IIonly
, (¢) into, by
(c) Bothl and II ‘
(d) Neither I nor II (8 through, into

|
|
|
bt |
3
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(a)
parﬁciple + .eeee ?
() Was/were + subject + mot + Press
—
participle + .- ?
(c) Was/were + present participle + Sub']" b . af e
‘ contracted forms ar
+not + ..--- ? s
t"‘ | .
P : e ! How many of the pa
der the following : (d) Present participle + was/were + NOtS 4 :
An assertive sentence or statement is a ot - .. 9 correctly matched ?
sentence that states a fact.
’ (a) Onlyone
An imperative sentence 1S 2 sentence
R v e o imstmicions 25. Consider the following statements : E (b) Only two
III. An interrogative sentence is a sentence ‘ _
that asks a question. I. All ‘adverbs have three degre __gﬁf | (9/ All three
Which of the above are correct ? comparison — positive, comparative,
: (d) None
(a) IandII only superlative.
II onl A
il Skl d II. Adverbs modify a verb, an adjective, an 3
I III onl - ;
= and Tl ol adverb. 7. Consider the following
d LII and III ‘ -
- III. Adjectives have three ‘degrees of «§o much can be gai
923. What is the correct format for the _ 4
comparison — positive, comparativess goodwill.”

interrogative sentences . in present perfect

continuous tense ?

(a) Has/have + subject + been + present

—

o continuous tense ?

How many of the above statements is/are

_negative centence in the [

j_atlve

Was/were + not + subject +

superlative.
The above sentence

form of adjective ?

o participle + ...... ?
rrect ?
(b) Has/have + have + subject + present iy (a) Cardinal
participle + ....... ? (a) Only one
(c) B s j : .
(c eer.l .+ has/have + subject + present (b) Only two (2;4 Ordinal
participle + ........ ?
(d) Subject + been + has/have + present (9 i Igres o .
participle i ? (d) None (d) Indefinite
RTJL-A-GAT (6-B) -
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| 11, Apostrophe — is used in genitive forms,

contracted forms and abbreviations e mm.h&b;___mm
How many of the pairs given above is/are RPN 6 7 _r:lth
correctly matched ? |, vl :
(a) Only one | examination. »
(b) Only two

1ML, [T would not intrude ____ |00
(¢) All three : :
(d) None

Everf“man must be fully
lw.:"r

Consider the following senteness L

“So much can be gained from a fingle nct of

L’(mrh\"l” .

'he above sentence is an example of which

form of adjective ?

a Cardinal

Ordinal

Multiplicative

Indefinite

RTJL-A-GAT (7=8)




(b) IIonly
(¢) BothIandII

(d) Neither I nor IT
-

-—

30. Consider the following words :
L Appaling
\}/. Conceive
}EL Liesurely
- \.\
IV. Worshiped

How many of the

misspelled ?
(a) Only one

(b) Only two

\/(2’)/ Only three

(d) All four

RTJL-A-GAT

above words

(d) Amenable
32. If your friend reveals his personal life to
because he trusts you to be discreet, '
one of the following appropriately descril
you ?
j (a) Conciliatory
(b) Dauntless
(¢) Gregarious
(d) Prudent 3 T
33. The phrases ook down upon’ and ‘intens II
dislike’ denote which one of the following ? ’If
(a) Conceit v
(T:) Enigmatic 4 asm— th
T W
-l -
. N | .5 (b
34. Consider the following pausé
Phrase Meaning (©
' . Likely to happen Imminent (d
is/are _~ |without delay
o I, |Inclined to silence Parsimonious
ITI. |Unwilling to spend |Taciturn m
Which of the above is/are correctly matched"i (a
(a) Ionly ' b
(2) IT and III (@
(¢) TIandIII |
(d
(d) II only
(8-B) RTJL-A-
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. 85- Consider the following
L Advance
1. Escalate
1. Lighte? Vv
Iv. Retain ./
. te 0N€
which tWO0 of the above words constitt
g to ym for the
synony™ and on€ anton.
word “Alleviate” ?
@ X and II
(b) 11 and 111
(e) I and v
(@ 11I and v 39.
-~
36. Consider the following words :
L. Calm
and ‘intense 1. [Excite
n 2
e 11, Polite
IV. Relieve
Which of the above words aT€ gynonyms for
the word ‘Assuage’ ?
a & and II 40.
@® LH and 111
e 2 (gp landIV
@ I and IV
_ |Which one of the following words correctly
; ‘ means “above board” ?
matched 2
(a) Across
(b) Honest
\(¢c)—Tnvincible
(d) Imperious
(9-B)

RTJL-A-GAT

tradition
What does the phrasé ¢he coast s clearl’
mean ?
(a) Life is pleasant and comfortable
) To pe free of respon51bilities and

(¢) . There i

(d) Free of threat by s€2

T fhe"“beIbWingﬁ .gtate,g;ent :

Conside
r be‘hé:iiés is not tru

«The way he ‘appears 0 e or

real.”

Which one of the following words most
appropriately describes the person’s
character ?

(a) Caveat
(b) Felony
(¢) Masquerade

(d) Narcissist

\




correct ?

T ekl a) IandIII
dominate thig prix . It should not be abused (

el BE NOER IV@ S
to foster a partisan SPirit and encourage WI ang g
fissiparous tendencies, It should mirror public (©) TandIV
opinion, but it also shoulq guard public welfare. (d) IIandIII
It must remembper to exercise restraint and wisdom
while throwing light on contemporary events. gl 44.  Consider the following statements : ‘
A | Ii; No less than seventy people were hur
41. Which one of the following statements best : - '
i in the accident.
reflects the critical message conveyed by the
II.  One must finish his duty on time.
author of the passage ?

(@) The press must be responsible as it HIL. He took off his sweater.

= shapes public opinion. Which of the statements given above is/are

(b) The press is the guardian of freedom of grammatically correct ? (b)
expression. #a) I and II 9
() The press is an independent institution b) I only @
and is free to influence people’s way Xc) TSRaTIT T
of thinking. : :
_ ITT only 48, Co
(d) The only task.of press 1is to report
events happening around.  ° I.
45. Consider the following : l ]
42. Consider the following statements : The teacher has become _s0_stern’ that hig I
- popularity is on the wane., 1
el L He regretted for his mistake. ‘
PRI e daily g Geuss 5
) o make exer : .
f e-oug _ p | " (a) The teacher’s increasing popularity hag = ™
ITI. This has been going on for a long time. miAde B tsiirict
; . m
Which of the statements given above is/are (b) The teacher’s increasing strictness hag f
grammatically correct ? made him more popular, b | \/(2
(a) TandII (c)  The teacher’s decreasing popularity has #E ' g
(b) II only made him more strict. i (
g c
(¢) IandIII (d/) The teacher’s increasing strictness has
\/(df/ ITI only 7. made him less popular., E 3 (¢

RTJL-A-GAT
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Consider the following :

He bears his troubles bravely, never begs for
s to sorrow and never

yu for your Success. sympathy, never yield

shows pain.

yu On your Success.
What is the most appropriate word that

sments given above ai
describes him ?

(a) Vivacious

(b) Stoical

(c) Magnanimous
(d) Effusive

tatements :

Consider the following :

nty people were h 47.

“This boy takes after his father.”

s duty on time.
What does it mean 2

ater.
(a) This boy follows his father’s advice.

s given above is/are

from his father’s wallet.

(b) This boy steals

This boy manages his father s affairs.

This boy resembles his father.

48. - Consider the following statements :

Iis We happened to meet at the house of
common friend.

II. The book you mention is out of print.

1II. The Himalayas lie'to north of India.

ing popularity has
In which of the above statements is an article

missing ?
\}/ " Iand II

Z—

MI only

(¢) IandIII

1g popularity has

g strictness has

(d) III only

RTJL-A-GAT

50.

(11-B)

Which of the _paira,sagivéﬁ, 2
matched ?

y(a) I, II and III

>\(b) IT only

\/m’ I and III only

7§(d) I1I only

nts :

e |

Consider the following pairs of stateme
Meaning
My heart is sO full

of words that I am
compelled to talk._i

Do not eat too
much lest you will

Statement

I, My heart is too
full for words.

b

If you eat too
much you will be
L. be ill.

But for you I|I should have

should have | caught the train
caught the train. | to be with you.

Il

I1I.

L

Which of the pairs given above is/are correctly

matched ?

(a) IandII

(b) IIonly

(¢) IandIII

(d) III only
e




. Question is given followed by two
- Statements I and II. Consider the Question
- and the Statements and mark the correct

option.

Question : What are the natural numbers
xandy?

Statement-I : x/y is odd.

Statement-II xy = 180.

Which one of the following is correct in

respect of the above Question and the

statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered bymusing
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either

Statement alone. .
The Question cannot be answered even
\ by using both the Statements together.

given followed by two:

1S

TNTT 3ﬂT 52. A Question

Statements I and II. Consider the Question
o and the Statements and mark the ecorrect
qal ? | § opta

ption.
HATER Question : If the ratio of two natural

numbers is 29/31, then what

are the two numbers ?
tatement-1 : HCF of the numbers is 4.
Statement-11 : TiCM of the numbers is:3596.
Which one of the following is correct in
respect of the above Question and the
Statements ?
The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.

The Question can be answered by using

b
_. l) Q4

{a)

(b)
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d) e Question cannot be answered even
by using both the Statements together.

RTJL-A-GAT 250
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o g stion i8  gi L
tatements 1 and II. Consider the Quest.
and the Statements sy orgily Juestion
tgtion. ments and mark the correct
uestion:  What is the digit in uni
: S nd:@ m?um place
tatement-1: The sum of the digits of the
number is 34.
Statement-II : If digits in the unit place and
thousandth place are
interchanged, the number

_ remains the same.
Whlclgt onfe:- o}f the following is correct in
respect of the above esti
Statements ? B e

(a) The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.
The Question can be answered by using
either Statement alone.
The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone. i
i @/ The Question cannot be answered even
by using both the Statements together.
A Question is given followed by two
Statements I and II. Consider the Question
and the Statements and mark the correct
option.
A body falls from rest on a planet. Its distance
from the starting point varies as square of
time of descent.

(b)
(c)

54.

Question : How long. will it take to fall
through a distance of 80 m ?
Statement-I: It takes 10 seconds to fall

through a distance of 500 m.

It takes 5 seconds to fall

through a distance of 125 m.

Which one of the following is correct in

respect —of the above Question and the

Statements ?

(a) The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other

tatement alone.

( The Question can be answered by using

either Statement alone.

Statement-II ;

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even

by using both the Statements together.

St

5 47
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56.

" and the Statements and mark th

\ o a2
A Question is given fSlowed by two
II. Consider the Question

Statements I and

and the Statements and mark the correct

option.

p, g 1, 5 and t are five consecutive even

integers.

Question : What is the average of p, g, Ts
s, t?

Statement-I: p+q+Tr= 0.

Statement-II: q+s+ t=10:

he following is correct in

Which one of t
bove Question and the

respect of the a

Statements ?
(a) The Question can be answered by using

one of the Statements alone, but
cannot be answered using the other
Statement alone.

The Question can be answered by using
either Statement alone.

The Question can be answered by using
both the Statements together,
cannot be answered using either

Statement alone.
_The Question cannot be answered even

by using both the Statements together.

(b)

(c)

(d)

is given followed by two

d II. Consider the Question
e correct

A Question

/Statements I an

option.
p, q, r and s are real numbers.

Question : Is(q + ) positive:?
Statement-1: P+lg+r+s>08

Statement-II § p H@> T 5S¢

Which one /of the following [is correct in
respect of/ the  above Question and the

Statements?
The Question can be answered by using

one of the Statements alone, but
cannot be answered using the other

Statement alone.
The Question can be answered by using
either Statement alone.
The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

Question cannot be answered even
by using both the Statements together.

(a)

(d)

but |

o f—

S 4

57. A Question is given
II. Consider the Question

@

58.

K

STRX

followed

Statements I and

and the Statements and mark the correct

option.

Question : If x, y and z are three integers,
then what is the v(alt_le of xyz ?

Statement-1: X, ¥ and z are distinct prime

numbers. w

S
Statement-II : xyz divides 10800.
Which one of the following is correct in

respect of the above Question and _the
6 | -511 g’

Statements ?
(a) The Question can be answered by using
one of the Statements alone, but

cannot be answered using the other
Statement alone.

The Question can be answered by using
either Statement alone.
The Question can be answered by using
both the Statements together, : but
cannot be answered Uusing either
Statement alone.

The Question cannot be answered even
by using both the Statements together.

A Question is given followed by two
Statements I and II. Consider the Question

and the Statemen and he correct
(10 x<9) \3x6

(b)

(c)

option.

LCM of two numbers p and q is @/
Question : What is the difference

between the two numbers? @
S_tatement-I easpyslme gl
Statement-II : Sum of the two numbers is 90.

Which one of the following is correct in
respect of the above Question and the

Statements ?
(a) The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.

The Question can be answered by using
either Statement alone.

The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

The Question can be answered without
using these Statements.

5 sl

(b)

(d)

\




ST W S et & wd § Fefated ¥ 3

ISR ?

(a) S ST § & SrHeY T HYA ST
X T ST wewa #, fohg 3tehed 3T A
T L AR (ST ST WehelT & |

(b) I T IR, Tehet TeRdT +ff o o1 ST L
fearsTewEaT R |

(¢) YT T I AT HYAT ST Tsh G TANT HT.

T < wean =, T oTehct foret ot T e
T TINT ohL STET (ST ST HehaT & |

(d) I T 3 I FHAAT 0 gAT fohe Tot fe@m
STEFAT e |

60. TU& T¥ fum a2, ek e 2 sy LS 1T feu
T ¥ | g 3R el | e Hifse AR g=
fereren fafga Hifsa |

g 96 (x + 1P I x O foriSie fopan St
2, STel n T AUl AT §, T A
FIDENT ?

FU9-1: /4 HERT n ST

F-11 /. 3 HENT n TR |

I S-S el o weM d frefeiad # o

FH-AI e & 7

(a) U9 T IO SHTN T O Tehcd Ueh HY T T
& foam S w7, fohg 3TeRct 3171 U &l
SRINT R el fedm S e ¢ |

(b) T3 T I, Hhed ferelt ot e hT SRANT ST
T ST e & |

(¢) ¥ h1 I ST HAUAT Sl Teh T FINT T
e i wehett 2, feb 3tehct forelt +ft ek shem

T TN 2 T2 fea ST e 2 |
(d) 9% 1 I I FAA A 540 fhu fomm femm
ST EhaT e |
RTJL-A-GAT

63.

64.

65.

(16—B)

qﬁwwﬁqaaﬁA,B C, D & =t 3
T 9.3t TS (3 b AU R TS
7 ANTH 660 2, ﬁﬂwﬁﬂm“‘%?
Ga): S ,
b) 4

(()es)

(d) mﬁﬂ%a%mﬁuﬁﬁqﬁmmm

SEl 1010 4 10100 1 101000 + 1010000 £

101000000000 =y o ¥ v foram <tw <t a’rm

TR 2

(a) O
) 1
@ 5
(d 8

60.

Tl n + 3 3R 2n + 1 T HCF 5 &, & n T
U0l HEAT B | TS n < 50 8, A5 e hl TS
ERETER R

(2 it

(b) 10

(&) w9

o g pmmp

Nt den € e 12 B e @) #1008

HEAT 2N % 16 W TUrEe § | 4@:%&:

THEE © ?

(a) 20

(b) 24

() .. 30 1
(d) 82




' A.B,C,D ¥ &t ¥

i i pRig R fe

(FHFTFTAET TR ?

Yuffa 3¢ e ST T |

W ()
20 4 1010000 + .. 4

forg s ST At 9I9%e |

THCF 58, 58l n T

TGS (FF0) 8 |
| 4N % fora =

60.

RTJL-A-GAT

| ~ and the Statements and mark the correct

: fion i.e_ given followed by two
nents I and II. Consider the Question

option.

There are two spheres whose radii are r

and R (r<R), each less than 21 units.

The difference in their surface areas is

1848 square units. (take n = 22/7)

Question : :{Vhat are the values of r and

2

Statement-I : ris an integer.

Statement-II : R is an integer.

Which one of the following is correct in

respect of the above Question and the

Statements ?

(a) The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.

(b) The Question can be answered by using

either Statement alone.

he Question can be answered by using
both the Statements together but

./ cannot be answered using either
Statement alone. /(

(d) The Question can be answered without
using these Statements.

(c)

A Question is given followed by 'two
Statements I and II. Consider the Question
and the Statements and mark the correct

option.

Question : What is the remainder when

natural number) ?

Statement-1 : nis divisibleby 4.

Statement-II : n is divisible by 3.

Which one of the following is correct in

respect of the above Question and the

Statements ?

(a) The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.

(b) The Question can be answered by using
either Statement alone.

}h/ € Question can be answered by using
both the Statements together, but
cannot be answered  using either

Statement alone.

(x + 1)® is divided by x (n is a |

61. ‘g,,n C be dis
a ‘,z-digit nnmber (AB
number (BCB). If (AB? =

(BCB) > 500, then what is the

of ( A+B+C)? :

(@) " "2

(b)

15

d 20

62. If the sum of all possible 2-d1g1t numbers
(without repetition of digits) formed from four
non-zero distinct digits A, B, C, D is 660, then
what is the average of these four digits ?

(a) 3
(b) 4
e o
(d annot be determined due to

insuﬂicignt data

@\"hat is the remainder when 1010 + 10100 4+
101000 , 110000 5 101000000000 ;¢

---------

divided by 9 ?

@) 0

1L LRI
() b

(d 8

-

e HCF of the numbers n+3 and 2n+1 is
5, where n-is-a natural number. How many
such /pairs of numbers are there if n < 50 ?

[ 64.

(a) 1

10 o \ o
(c) . .
oW 8

N is a number which has 12 distinct factors.

The Question can be answered without
using these Statements.

(d)

(47

65.

The number 2N has 16 distinct factors. How

many distinct factors does 4N have ?

(a) 20

(k)

c) 30

(d) 32 =

bl 5 >

B) . SN LY 5

nag
AN 3‘? ey



67.

68.

69.

RTJL-A-GAT

© "AAB®
@ AAAB

W FET % § <coNJUNCTIVALY =t
‘NJCTALCOUNIV” & &9 # Iee-3t (shuffle)

o T 2 | 59 e # “EXTRAVAGANZA” Y
¥ forar s 9

(a) AGTRZAEXANAV

(b) AGZATREXAVAN

() TRAGEXZAAVAN

(d) TRAGZAEXAVAN

80 ¥ = forft et ¥ R % =) P
UGS (factor) & ?

(a) 21

(b) 22

() 23

(d 24

HH ST P, Q 3 i RW s ¥ | &
Q-ﬁwmaﬁPQaﬁtQPwﬁanaﬁﬁme
I QP ¥ T FT T T 4-37RT T&AT 6XY6 T
AR P+Q+ X+ YHHTFTE?

(a) " 82

(b) 30

(c) 28

(d) 26

(18-B)

(a) 46
(b) 47
(c) 482
(d) 486

71. TFE % U SAAATHR seiieh T e 10 cm, TS
5c¢m 3 FTE 1em 2 | 10 cm x 1 cm 3HTH GieF

ﬁqﬁﬁaﬁmiﬂﬁwwal5mxlcm

S A A R o oo 3
10 ¢m x 5 cm 3T ST 2T YT9aT 7 ofTed 07 &
bﬂw%mt@ﬁmﬁﬁﬁmmﬁm

Sl €% 1 em T | fr=afafeg FET F @
HH-HI/H-8 /8

II. @aﬁaﬁrmm%,ﬁﬁa‘rwﬁmm _'

ﬁﬁgq%aﬁtanwa‘ﬁmtﬁgql
A= R T e = i o 3
(a) HFAI
(b) FEAII
(© IR
d FALIA
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(a)

T e (Togle)
) &
s () 2reee (Title)
73‘ WWN = Xyz'@ 3'31d§[q WT%,E%TV X) y, Z f e (g[]_ '). ¢
TR F | NF oy A e |0 © % (Uppen)
3fehl o U % e o foha A v
. %‘; RS (d) %eH (Sentence)
(a) had TH
(b) haAar
(c) HaTaER : S
74. Il p 3T 37 4+ ; q T A < ;T @ Y 2 I ﬁ-ﬁﬁm—‘éﬁ( ;#
s W A w ¥ @ uved (equality) M RN 4i
12_5_50_10_13 = 0 %! U # o fora it IL S-S0 1 59 S St STwehtt < i €-irt
i Sfua ster wfe Hif | SRt 5 S +FAR ® |
ERELELES |
T e ML -0 ¥R foreft fommet siemor (s e
(b) piT, 80q a@%ﬁu&mmﬁaﬁﬁaﬁm:
(©) g¥s, rNg BEISER A
(d)/ q,1,8p
SUY H U hE e w0
75. T M %2 §, MANGO I 50 % &9 § ewg
foFaT TR 2 TR DATE 1 30 % ®9 § Freag (a) FATIIRII
TAT® | ORANGE 1 % T 8T =1 2
(a) 75 (b) ae 11 3R 111
& - (¢) Il I I
(c) 65
d) 60 (d) L IR
RTJL-A-GAT (20-B)
‘ . e n—_— L eaveep)



What letter should be the 11% Jetter to the/
left of the 10" letter from the right, if the first

‘H&R (Capital)
E half of the English alphabet is reversed ?

173, Dlet N = xyz be a 3-digit number, where x, y, z
are non-zero digits. Five times the sum of the
digits of N is equal to the product of the digits.

How many values of X +y + z are possible ?

(a) Only one

(b) Only two

(¢) Only four
T : (d) More than four

/ \ \

L 74. 45 If p implies ‘+’ ; q implies — ; r implies X’ ;
s implies ‘+’, then insert the proper letter
between the figures in order to satisfy the
equality 12__ 5—=50_10_ 13/= 0. Which one is
quality % i
the correct sequence of letters ?

EXGIEA

(T2ILeT) q9dr (a) \I:j’ s, p
Wma;[ 1 _\"“b‘l p:r’ssq
| ~(c)V p, & q
d) @r8P
\
.
75. In a certain code, MANGO is coded as 50 and
DATE is coded as 30. What should be the code
for ORANGE ? Go— @D
) =B . ;
@ 8 P APEOT
(b) 7O _— e
(c) 65 e &% ,A( \ 3
(d)/ 60 g;ﬁ 3
RTJL-A-GAT \q”

76.

word of selected sentence to Ca

(a) Toggle
(b) Title

(©) er
(d) Sentence

Consider the following in respect to e-mail :

4.
112 The e-mail works on the client-server
model.
II. Both the sender of e-mail and the
recipient of e-mail are e-mail clients.
III. The e-mail server is a combination of

processes running on a server with a

3,
N

large storage capacity.

Which of the statements given above are

=l

correct ?
I and II only K\JZ ()70 WS
ol W
(b) II and III only Y@
PO |
(¢ Iand I only g O,.\%

I, IT and III




(c) Torelt shegex =t Sifehs (STET) SUSTSH AT

(d) (ST (STET) T HETE HAT

79. Trfafad Nenfifwt w fomm Hifve :
L en-SeasiE SRS (ATge-UHiET SHtS)
I sihrr E waree (e e e
1L mﬁﬁ%ﬁﬂ(aﬁ%ﬁaﬂm)
m@ﬁﬁ%aﬁmﬁ,mmm%%@%?
(a) ad ISR
(b) et 11 SR I
(¢) FaellARII

(@)L S III

RTJL-A-GAT

v. saflieX
s & e -t e 9
(a) A TH
b) FEAL

g1.

III. CTRL
(a) hadl [ HARII
(b) =hae 11 3K I
(c) ad AR

(d) I,II3MRIII

(22-B)



3. What is the main function of an input device

in a computer ?
(@) Receiving data from a computer
(b)  Storing data for processing

(c) Providing data to a computer

(d) Processing the data
79. Consider the following technologies:
I. Light-Emitting Diode
% Sl (HISHER

[I. Digital Signal Processor

ITI. Optical Sensor

Which of the labove are parts of an optical

mouse ?
EIEL (a) IandII only
(b) II and III only
\M I1I only
(d) I,1I and III
j RTJL-A-GAT

T

(23-B)

81.

£ Dot matrix printer
II. Inkjet printer
III. Laser printer

IV. Drum printer

et

How many of the above are non-impact

printers ?
(a) Only one
(b) Only two

(¢) Only three

(d) All four

Which of the following are modifier keys ?

(L SHIFT
e, ATHE
III. CTRL

Select the correct answer using the code given

below :
(a) IandII only
(b) II and III only

(¢) IandIII only

and III

(d) %




Delete
IV. Print Screen
V. Pause

VI. Tab

ST & § e, s sreltor spfomat & 2
(a) FHaAdH
b) FaAER
() FIaa

(d wudisg

83. WeRfic % weiy &, fefefad Fui W R
Hifeg ;
L Weslie u fawn dvedwm ¥ e s

T Sehefie T T @ T e e
FHIBHTST (cells) H vt BRITSTAT 2 |

. WM i TdF ABH (cell) § Tz
siafEdrama d

II. MS Excel SIE3(Ie HIYea I T e 2 |

SUYTH § A A HUT TR 2

(a) wae I HARII

(b) el II 3R 111
(¢) - el I 3R IIL

(d L IIARII

RTJL-A-GAT

85.

86.

© P e (Trojan Horse)
(d) FE9R (Ransomware)

foreferfiae & & S-oft, Team dand € 2 ‘
I TR
Il SR (T fehe)

1. st (A-fregfesm)
et féw T oz r ST o SR
(a) I ISIT | ;
(b) hae I1 3 III
() a1 3 III
(d I, 113 I

S

ﬁwi%—lﬁaaqrﬁanﬁﬁn{:
I.  EUS (Dropbox)
II.__ HeHHE (Salesforce)
L. TefiRTd (Netflix)

IV, I 365 (Microsoft 365)

Wﬁﬁ“ﬁmﬂ%ﬂmﬁ ‘
(a) e T o e
®  FaAE g
() FEad e
@ g




TAdE ? :

L

- RTJL-A-GAT

E ;4 pe 7 G -
II. Insert
III. Delete

IV. Print Screen
Y. Pause

VI. Tab

How many of the above are special purpose
keys ?

(a) Only three

(b) Only four

(¢) Only five

(d) All six

Consider the following statements in respect

of Spreadsheet :
I Spreadsheet is a system software that

enables the wuser to maintain a

worksheet in ~which information is

3 hich of the following are security services ?

compiltér program

a useful program ?
(a) Virus
(b) Worm

(¢)~" Trojan Horse

(d) Ransomware

Confidentiality
II.  Authentication
III. Non-repudiation
Select the correct answer using the code given
below :

(a) TIandIIonly

(b) II and III only

) T aﬁd I1I only

stored in different cells. e
[I.  Each cell in the spreadsheet can contain
numeric and alphanumeric data.
III. MS Excel is an example of spreadsheet
software.
Which of the statements given above are
correct ?
(a) IandIIonly
(b) II and III only
(¢) Iand III only
\(dyf IT and III
(25-B)

Consider the following :
E Dropbox
II.  Salesforce
IV. Microsoft 365
How many of the above apply cloud
computing ? | l
(a) Only one
(b) Only two
\)p)/ ~ Only three
(d) Allfour




o TElﬁ'ﬁ (Google Go) |l
II. ¥R SR YAHAH  (Stock market
prediction)

IV. -9 99 G4 (E-mail spam detection)

3‘1’5?5 T Y fora warefietor SAfrm (reinforcement .
leamlng) F TrATIF ISR & 2

(a) HIATH
(b) Fa@ar
(c) HAATH
(d) wftERr

92.

88. é‘ﬁa%mmﬁa%ﬂﬁaﬁﬁﬁmﬁf&qaﬁﬁﬁm
ﬁmwmﬁmw%o

(a) HTTP

(b) SMTP

(¢) 'TCP

d) POP

Ra,

89, ﬁmﬁf@aﬁﬁﬁ?mmmm-ﬁmﬁr

(FHR) R 2
(a)  TedEe wfy (@t auid)
(b) =1 S (F Ay

(e RAM
(d) SR Sfer (Smge A

93.

90. IR LAN & for fiefefen & & frw wees
(ed) =1 ITIRT R T 2
(a) 802.10
(b) 802.11
(¢c) 802.15
(d) 802.16

RTJL-A-GAT (26-B)

e I
ad I
[ 3R 11 3T
FAL A

(b)
(e)
(d)

(d) HAI/ATY T YEh (SM)

&

II. R
1, 3 &R
IV. Yo ¥R

& T (heer) i iy

Y TR 0 I o & fope



[

- ZEREC e
i ki
B
P

SERIEIED 3 Consider the following :
! e I.  Self-driving car
7 3N AR &
II. Google Go
g 3 9 T[T Stock\market prediction
IV. E-mail spam detection
How many of the above are real-life examples
of reinforcement learning ?
(a) Only one
(b) Only two
(¢)  Only three
‘ _(d)—All four
R) I s DR h
FH T R TR
S 88. / Which one of the following protocols is used in
sending messages through E-mail ?
M)
‘ (a) HIEEER
: (b) SMTP
i
| ¢ TCP
| (d POP

/89] Which one of the following is the fastest type

of memory ?

(a) / Secondary memory
(b) Cache memory

(¢) _RAM

(d) Primary memory

i
\

rﬁ#ﬁefgl!lli h / | \
A | 90. \Which one of the following standards is used

91.

Consider the following statems

I.  Atal Tinkering Labs are
high school students.
Atal Incubation Centres are
the graduate and post-g
students. e 3

II.

Which of the statements given above is/are
correct ?

a) §Lonly
(b)
(c)

(d)

IT only
Both I and II
Neither I nor II

Which one of the following awards is equated
with Param Vir Chakra (PVC), the highest

award for bravery in war ?

(a) Param Vishisht Seva Medal (PVSM)

(b)

(c)
A(d)

92.

Kirti Chakra (KC)
ok Chakra (AC)
Sena/Vayu Sena Medal (SM)

Consider the following seas :
I.  Baltic Sea

II.  Caspian Sea

III.. North Sea

IV. White Sea

The Russian Federation has borders with how
many of the above seas ? ;

93.

(a) Only one
\yb/ Only two
gf) Only three
(d) All four

for wireless LAN ?
(a) 802.10
(b) 802.11
(c) 802.15
(d) 802.16

| RTJL-A-GAT (27 -

B)



e

(a)
(b)
(c)
(d)

95. T YUt enfer wreR Wi fffiae b @ 4t @
Heifera 2 9
(a) YRA -9
(b) WRA — SR
(c) R — Y|
(d) R — sficinr

96. WA AT % fohe yomg =t frew G o
TR 2
(a) EHZT *hl Fo qh AT SN TT=sdl & i
SRR ST

(b) =W ¥ AR JGuEd 0§ B ARG
TR AT

(c) YT % SR e gt & WHaRT T
AR YE e ST ST AT

(d) g 7emEIR #I 3u ST afafRRE ¥
e Ereféra sitt wefde wam

97. WA o fHEIfeifad Swrseafer gt e Hifse -
I. ST T, TuTHIH
II. ST SRt ga
TII. ST, YR &1 Y1

IV. WiEwE giHe S

3k | ¥ fehet ¥ 1 warafer o i 2
(a) had Th
(b) haeT &
(c) haelai
(d) TR

RTJL-A-GAT

.. NATO % wsy & fmfafias & & #19-9 +u7 a9

(b) et I1 3R 11T
(c) e I 3R
(@ LIS A o

s

frfafan & & free #, 2024 4 oA ¥ "
AT IS 2ot 28 HIet oed ke H
Tehed Radre Sfdr 2

(a) TS fo=m 3aR
(b) HSHUIT T

(c) SAFIHTS HERIER
(d) HTRRT JHEHE

g9

L e sen | e 2 |

I 909 3 S0 A, St ésﬁﬁsnﬁr
m&TrNATowa&a%|

I WieT % 988 594 F 919, NATO ¥ @
1 e S 31 B E |

=1t o e o =t v o <
(a) FFAIMRII

(b) e I1 3T 11

(€) Fae I3 Iy

(d L Iskin



(b)

(c) Tarakeswar Sa.-tyagraha

(d) Guru-ka-Bagh Satyagraha

Maitree Super Thermal Power Project

is related to which of the following two

countyies ?

(39" India - Nepal
(b) India — Bangladesh
(¢) India — Bhutan
(d) India — Sri Lanka
™ A
J gW 3 96. Mission Sagar is the name given to the India.n{(
' Navy’s efforts to :
(ay) clean seas of waste and increase
\/ awareness about cleanliness.

(b) bring home the stranded Indians from
war-torn nations abroad.

(¢c) make efforts to reach / out = to
neighbouring countries with
humanitarian assistance during

q&t calamities.
‘ keep Indian Ocean safe and secure for

own mercantile activity.

residents of

Consider{ the following Vice Pre

India :

Dr. S. Radhakrishnan

I;

II. Dr. Zakir Husain

[11. Dr. Shankar Dayal Sharma

IV. Mohammad Hamid Ansari

How many of the above completed two terms
in office 7

(a) Onlyone

(b) Only two
(¢) Only three
(d) All four

RTJL-A-GAT (29-

B)

100.

\/@/1, 11 and III

RBIsupplmm&ttothe

I.
Government.

II. RBI provides credit to Comme!
Banks.

III. RBI  provides credit to State
Governments. T

Which of the statements given above are

correct ?

(a) IandIIonly
(b) II and III only
(¢) IandIIIonly
(d) _ETIand III

the following has won Men’s

Who among
nnis Feeder

Title at World Table Te

Singles

Beirut Tournament held in Lebanon in

March, 2024 ?

(a) Manav Vikas Thakkar

(b) Subramanian Raman

(¢) Venugopal Chandrasekhar

(d) Sathiyan Gnanasekaran

Which of the following statements about

NATO are correct ?

[. . The ' Headquarters is located 1n
Brussels. BN |

[I. Peace and secux?lty?m both, Europe and
North America is NATO’s goal

With Sweden becoming a member, the

- count of NATO’s members has risen to
31.

Select the answer using the code given below :

(a) Iand II only

(p) MandII only

(¢) IandIIIonly




RTJL-A-GAT

. WA ¥ shww ¥ ot § Feffed @ @

S-SR o Tt 22 9
L 26 S, 1930 i €YU WA H waar fead
T T T |

II. YR Easan A, 1947 faifest doe &
RIRGREDIRIC O

A=t e T e T R s g
(a) Hadl

(b) A I

(c) 13RI

d) IALIRI

103. THfE & foTU HG-ssid s Shaee (PEF) &

wTiflerR 39 Frefefea 8 HH-a 8 9

I. WNH

II. SRy

III. 3eRfm

IV. JUHT (USA)

e T T 2 T SRNT S R S A
(a) I, IIRIII

(b) I, IIARIV

(¢ I IIIARIV

(d) I, I MRV

(30-B)

II. I et
M. el et
IV. HRAd
A=t fRw e e <1 i o S
(a) HaAl
(b) T3RII
(c) ISR
(d) I II 3R TV .

89 .
L et
II. =mq
I #Hhq
IV. a3 £
(a) I3 i
(b) 13RI |
() T3
(d) III 3f v



s, Wi Mhhmm“
o the Nwmm

Inderendence Day was et Sk e

India on 20 Janvas, 10
mmmmm
s 3¢ § R IO aasad W e B B

[kt the answer mmm

) Tonly

» I only

O Both Tamall
R IR IR @  Netherlnerll

103. Which of the

R L
i
AY
Select the corvect mm&&mm
delow
% s g

| @ 1 I ana I
@) LHand IV
© 1 I and IV
@ 1, and IV

h TJL‘A.,GAT—



IV. 9 9eref

(b) Seril S S AT
A1 o T pe = iy e e S AR e @
(a) +EAI = o b
L= I CEE]
(b) A I IR II o
(c) hael I 3R III

112. Wﬁ e ol @I T & A
(d) el 10, I 3R v mmmm%&www

108. WG % Tu Weg v % ait § Frefrfaa § & 2
PRV Fo T 2 0 (b) MWWWW ‘
L 9% Tk 87 1 wuich (o) T O — (c) Tty Tesfel sieh
FHHA T AT R | (d) i (NITT) ST
Ig 15 #mwmmeﬂm@aq&ﬁ— 4
HEL T STTETRA © | 113. YRA TSI-=Tae & gew |, Fefiiad s ©
ﬂ%ﬁqwagmmmwgﬁq: form hife -
e g I H9 hR ! Afasy Bl St & w8
b) FEAI STt g S o § Wt St # |
o) e 1. < & o e e
@ S s e aifer | |
109. fores Hewt  wifear , T fgieh e “Ma3» ST 5 - GURR Fo w272 2
SR & ST: ST i St & 2 (a) Shaell
(a) SHIHTes Rufsersh i @ i () o
(b) Teafocteh i sreiforam | (c) I3MIIamt
(c) Teufoer oiiw 3 afem G =R (@ FALILI |
(@) Teafscrsr iie 7w 114, S % “Si G e
110. feforied & @ Si=-ar, Ty, e, Rish siv fear smar & 2
ATeT=R o g § THI (HIE) & 2 (@) R st aret anforferss sreramt
(a) HUTH 3cUTEH WFIT.
(b) 3 I ®) A b oy
[EEGEICE] ©) m%‘ﬁqﬁmmm
(d) ST ST (@ ST e 3 et ety

RTJL-A-GAT (32-B)



Phosphorus
Magnesia
v. Organic matter

b Y ;
by~ o4 il

below :
(a) Ionly
b (b) IandII only

qroifieh 363 - (¢) Iand III onl

1T foREeRT & @ (d) 1T, III and IV only%

e 108. Which of the following statements about
the new Parliament building of India
is/are correct ?

I. The new Lok Sabha is themed on the
national flower — lotus.

ferfiaa e R II. The new Rajya Sabha is themed on the

] national bird — peacock.
T j‘,! ‘ Select the answer using the code given below :
ATt 8 | Q'I @) Fel
.y (b) II onl
| \}()/ Both I and II
r (d) Neither I nor II

3
F 109. “M23”, an armed rebel group is frequently
r talked about in media in.the context of :

f _+{a) Demoeratic Republie of the Congo
i (b)  Republic of Colombia
(c) Republic of the Union of Myanmar
(¥ Republic of Yemen

N

110. Which one of the following is common to

amrup, Ramagundam, Sindri and Talcher ?
%)  Cotton production 7(
Wertilizer production

(c)  Power production

(d)  Steel production

Select the correct answer usmg the code given .

RTJL-A-GAT

(33-B)

‘@ Swavalambén Yo.]ana

112. In India, the operations of monetary po icy
framework with the primary objective
of maintaining price stability is the function

of :

(a) Ministry of Finance

(b) Ministry of Statistics and Programme
Implementation

(¢) Reserve Bank of In{hV

(d) NITI Aayog

113. With reference to Indian polity, consider the
following statements :
I. The moneys received by the Union

Government from Provident
Fund transactions are kept in Public
Account.

II. Parliamentary authorization is

mandatory for all the disbursements
made from Public Account.

Which of the statements given above is/are
correct ?

(a) Ionly

(b) Ilo
e—TBoth I and 11

(d) NeltherInor Wiis
. yﬂ |

Oper t ion Saﬁ%lp”i is mentioned in

}.l’iﬁ’igg_, ,_-&‘lag Merchant

(b) joint military exercise between two
countries.

(c) providing humanitarian assistance to
other countries.

(d) disaster management and relief £
activities. e




115, T Trsg-saredt & deM H,

o fife - Seadl
L gqﬂqswwmwmmﬁﬁr
|

. YRq % gy off srafis ofear &
STETRT B R |

ST B F-quA-A F R 2

(a) AT

(b) FASAII

(¢) ISRIIM

(d FTAILISI

116. fF=feifas Tt o fmm it
I. RN 93T
II.  TaEn
1. Aee
V. fafeesy

SRE § ¥ R Tt o ol waﬁ F
Tt T 60 T FHE 7

(a) IQﬂIIV

(b) II3IRIV

(¢) I3ARII

(d) II 3R I

117. 9N 8GR % dau A, Frfafad fenmit = fem
Hifsa . |
I T ey SR faerm fammr
1. = femr
IIL.  SRATO] Sl (T
IV. 3iqiee fovmr |
ST & & -4 T form €, S Tt @t o6
T €T & 2
(a) LII3ARIV
(b)  heret II 3R 111
(¢) ohael III AR IV

(d I, IR IV
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119.

120.

FAL, I

ffefiaa @ & HH-HT, ! THHAT HRAT SH-3A
RETSTT ohT T 3ed € 2 e
(a) @NT ¥ AU TUERT SHRE
W (AL ol STGHT
) TEfir @t * fow Fryes e
FwferEy < STmafd e :
(c) W &pli | oIy T sh T s
@ s i e o s o

a
—T = yvoa ,

sefmge g

(a) T HATGY
(b) TRy ey N
(¢) =A™ :
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ith re!

following

I Uni6n

1.~ Prime Minister of India is the Chairman Siagis
of all the Zonal Councils, Attorney Genera

Which of the statements given above is/are Which of the statemeni:; given abavé‘

correct ?
correct ?
(a) Tonly
(b) II only (a) Ionly
(@ BothIandT () —Tonly
(d) Neither I nor IT (¢) BothIandII

116. Consider the following States : (d) Neither I nor II

I Arunachal Pradesh

II. Goa
er § ITI. Meghalaya 119. Which one of the following is an objective
ki IV. Sikkim of Pradhan Mantri Bhartiya Janaushadhi
# Which of the States given above have their Pariyojana ?
ED| J Legislative Assemblies consisting of less than | (a) Mding the coverage of quality
i 60 memheal —  generic medicines to the people
y - (b) Supplying quality medicines to rural
Ef I ‘WI and IV upplying quality medicines to rur ;
© i people free of cost i
(d) II and III (c)  Establishing special health centres in ié
It inaccessible areas and to maintain e
ith reference t.o Government of India, steady supply of medicine:
4 consider the following Departments : , B )
i b | I.  Department of Defence Research and (d) Supplying m@cl‘mes jiee
| Development A workers in unorganized

=
B

II. Department of Justieec/

III. Department of Atomic Energ)(/

IV. Department of Space 120. With reference to Government of India, the

Which of the above are Independent Department o order Management is under
D(i)partments, not forming part of any Ministry of Defence
Ministry ?
() I Iandiic) (b)  Ministry of External Affairs
(b)  II and III only ; | (¢)  Ministry of Home Affairs
‘}M IIT and IV only i s s B
(d) Ministry of Road Transport and

(d) I, III and IV

Highways
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